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Math 211 Quiz 2

Section: 322 O 323

a Sep 20, 2012

1. (5 pts) Use natural logarithms to solve the equation and simplify your answer.
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2. (10 pts) Evaluate the following limits.
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3. (5 pts) The position, in meters, of an object is given by the equation f(t) =1t where
# is measured in seconds. Find the velocity and the speed of the object after 2 seconds.
L xry = b

[ -cem] =L 14
[iim e = Aim

h>0 h h>0 h

L4~ E-2th-n]=Lr- ]

= Lim |

L h
e
S 1
g 2R

hovo 4

= -2t

= {3I(ﬂ =0t

1

o £22 , 2y b whefy (vdoaty)

|f/2] = & meosfye CSyeed)

W




	PTDC0013
	PTDC0014

